CNNESED))

PINERERRIRZEE 2 RECIEREPRHBICHDDEER

1. &1 DPBEDFTLESICDNT
1&E1 DBEDFTLS

& A
BODTE LS
RIODTTLES D (Al
(2)., ESCOEBEICXTNG D15 1 NBEDTTLESICDUNT
& 1=
BEERDT LS
BRI B D5 = 0 {B]
(BRIDRICDINT
(B — A ) = B X100 = % =z 15%
2. 10HE®E. 2N BEDOR:AHTLSIC DT
(1)1 ON)DEEEO 2D BEORAHTTLS
SE2HBED & A F 1=
ite (BdAH) 35} M
FEe2NBEOEstEEE Be - -[C]
(2) EECOOHEAEICXT N T DaIFE 2 AN ERDTLES
BITE2 D BE®D & A = A
i =S ES ) 35} M
FEe2NBEOEstEEE B - -[D]
(BRIDRICZDINT
(A] + [C] = 5
(B] + (D] = 5
{((B+D) — (A+0C)} = (B+D) X100%= % = 15%
FERROERBEIIRESEMBEDD T E A,
=SB

ARES .




